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In an E-R diagram the student entity previously considered may look like the one shown on this slide.  Notice that in this case the student id needs to be preceded by the sequence #* to indicate the it is the primary key.  


Remember that only one attribute or set of attributes needs to be selected as the primary key.  What would happen if in this entity we have SSN as one of the attributes? Should we also tag to indicate that it is a candidate key?  

SSN may be one of the pieces of information that we may need to keep track about the student. Therefore, it could be a legitimate attribute of the entity.  However, we cannot tag it with #* because it is not the primary key.  Notice that SSN has the potential of distinguishing one entity from another but SSN was not selected as the primary key and therefore should not be tagged.

